TA Grading Guide for Midterm #1
Question #1 (12 points) 

1.       Answer: True ( 2 points

2.    You have to explain corn and wheat are substitutes and thus demand for wheat will increase due to the increase in the price of corn. (or some people said they are complement, then you have to provide your analysis correct and consistent with your assumption) and the new equilibrium price of wheat will be higher. ( 2-4 points

3. Have to explain why elasticity will be lower at the original equilibrium price when demand shifts out. ( get 6 points if all the explanation of this part is correct. 

4. Have to explain why elasticity is likely to be greater as the higher new equilibrium price will move up along the new demand curve ( get 6 points if all the explanation of this part is correct.

Question #2 (12 points) 

1. Answer: True ( 2 points

2. If only mention the increase of tax will raise the price and thus quantity demanded will be lower ( 2-4 points

3. If only mention elasticity will determine if the increase in sales tax can double tax revenue or not ( 2-4 points

4. You have to distinguish the difference b/w the tax revenue from the unit tax and sales tax. Due to the decrease in quantity demanded, doubling unit tax will not double tax revenue ( If you explain this correctly, you can get 6 points.

5. However, tax revenue can be more than double when sales tax is doubled if demand is inelastic ( If you explain this correctly, you can get 6 points.

Question 3: Basic Economic Principles predict that people are more likely to vote when a presidential election is expected to be close. 

Answer: T - Basic Economic Principles imply that people are more likely to take an action if the benefits exceed the cost.  The benefit of voting includes the likelihood that your candidate wins because of your vote.  Since it is more likely that an individual voter’s vote will impact the result when the election is close, the benefit of voting is greater in a close election.
Guide (12 Points):
Students who have used the above or the following reasoning to reach the conclusion that the statement is True got full points. 

· The main idea is that people would vote if the benefit of voting is higher than its cost. In an election that is expected to be close, an individual’s vote is more likely to be effective on the result of election than it is in a landslide (not close) election. So the value of an individual’s vote is higher in a “close” election, more people see that benefit of voting is higher than its cost. This increases the number of people voting.

· Another good approach is to think “not voting” as a good. During the elections that are expected to be close, price of “not voting” increases, decreasing the quantity demanded of “not voting” –a demand graph explains it all.

Students who have reached the conclusion that the statement is True by partial application of the reasoning above got 10 points. 

Students with correct answer but without a properly justified explanation got 8-9 points.

Students who have stated the Basic Economic Principles correctly but reached a wrong answer because of wrong reasoning or misunderstanding of the question got 6-8 points.

· Most frequent misunderstanding: Some students thought that the elections were close in terms of time, i.e. elections are near. This made them to reach wrong conclusions, but the ones who applied the Economics Principles correctly got points.

· Many students answered for the elections in general, not the “close” ones…
Students who have partially stated and/or misapplied the Basic Economics Principles and reached a wrong answer got 4-5 points.

Question 4: Jody just shopped and bought 10 ears of corn for 25 cents each and 10 donuts for 20 cents each.  She would have preferred a store where the prices were 20 cents for corn and 25 cents for donuts.
T - her most preferred choice at the prices of 25¢ and 20¢ (corn and donuts) is also available at the new prices of 20¢ and 25¢ (cost $4.50 for 10, 10 either way.)  But the Law of Demand predicts that at the new prices she will prefer to increase her corn purchases and lower her donut purchases.  Hence, this more preferred option at the new prices must be better than her best option before.
Guide (12 Points):
As a base, 4 points for Jody’s expenditure calculations only:


Total Expenditure in First (Actual) Store= 10*$0.25 + 10*$0.20 = $4.50

Total Expenditure in Second (Hypothetic) Store= 10*$0.20 + 10*$0.25 = $4.50
(Note: Some students called these $4.50’s as ‘price’! Please be aware of the distinction between the price and the expenditure, which is simply quantity*price.)

· 2 more points for some correct statements e.g. stating that she can buy the same quantities of corn and donuts at the second store, but wrong answer. (4+2=6 points)

· 4 more points for partially correct statements, and correct answer. (4+4=8 points)

· 6 more points for nearly full answer, with a correct reasoning but a few deficiencies, e.g. no cost calculations, no preferred option statement. (4+6=10 points)

· 8 more points for full answer. (4+8=12 points) 

Good approaches are: 

- using relative prices of corn and donuts (corns are more expensive (5/4) in terms of donuts in the actual store with respect to hypothetical store (4/5)) to conclude that Jody would buy more corns and less donuts at the hypothetical store

- using a hypothetical person who had shopped the same amount at the hypothetical store to conclude that Jody would trade with him/her since their marginal values are different. So Jody would prefer the hypothetical store.

Most Frequent Error:


Most of the students perceived the question as Jody had actually bought 10 corns and 10 donuts from the hypothetical store. This made them to state that she is indifferent. But reading the question more carefully, one can see the phrase “She would have preferred…” so Jody hadn’t shopped at the hypothetical store, but we wonder if she would have or not.

Question #5 (12 points)
There are three economics concepts we’ve leaned related to answering the question.
(i) Concept of marginal value and demand curve 
(ii) Conditions for trade to occur.

(iii) Law of diminishing marginal value.

(i) implies that Mary and Jody will continue to shop as long as their marginal values for each item exceeds its price. (ii) predicts whether the trade will occur; trade occurs when the marginal values are different between them. (iii) indicates how the marginal values changes after the trade; marginal value decreases if each person gets more of one good etc.
If you mention at least one of the above three concepts even implicitly, I give 4 points. Regarding (i)-(iii), I give 1~4 points if you seem to understand and apply one of them correctly for answering the question (If it seems ambiguous which concept you apply, you cannot get full points). However, if you write incorrect implication from these concepts, I may take off 1~2 points. (Just a lot of writing does not get points but may have a risk of losing points). For example if you answer the question like

“They purchased at different shops with different prices, thus their marginal values would be different. (0 point, you need to explain why their marginal values are different when their purchasing prices are different like the answer key does). Trade will occur when they meet if their marginal values of the same good are different (4 points). After the trade, their marginal values would change (0 point, you need to explain how it would change). According to law of diminishing marginal value, the marginal value of the person who gets more of the good will decrease, and that of the person who has less of the good will decrease (4 points)”,

you will get 4 + 4 + 4 =12 points. 

If you answer the question without mentioning any economics concepts stated above, but somehow it makes sense, I give you 3 points.
Question 6 (12 points)
The economics concepts should be used for analyzing this problem are 
(i) Law of demand
(ii) Substitution.

(iii) Elasticity of demand.

From (i), we can say that if the price goes up the demand goes down. In this case, if the parents need to purchase tickets for their children, air plane travel by families with children will decrease. (ii) says that as a result, the substitute for air plane travel, such as travels by car or train, will increase (you should mention these modes as substitutes for air plane to get points). (iii) is related to the prediction of how much the demand for air travel decrease.
Similarly to question (5), I give 5 points if you mention at least one of them even implicitly (I give more points than question 5 because it seems more advanced application of the economics concepts than that of question 5), and 1~4 points if you seem to understand and apply each concept correctly. 1~2 points might be taken off for your incorrect sentences. Again, if you answer the question without mentioning any economics concept stated above, but it somehow makes sense, I give you 4 points.
Question 7 (12 points)
To get the full grade, students have to recognize (1) when the prices of all goods rise by the same proportion, there is no change in the relative prices.  (2) It is the relative prices that determine the quantity demanded. The “unchanged relative prices” is the key to get credits. Students can get 2 points by mentioning the effects from income. Irrelevant answers include how elastic the demand is, and how much time consumers have to respond to the price increase. 

Question 8 (12 points)

The definition of surplus or shortage accounts for 6 points, and the definition of scarcity gets the other 6 points. Notice that mentioning “all goods are scarce” is not enough for the scarcity definition.

Question #9 (12 points) 

Point distribution: 
2/12: Show how many plants Mary will choose for first scenario. 
2/12: Show calculation for surplus from first scenario. 
2/12: Show how many plants Mary will choose for second scenario. 
2/12: Show calculation for surplus from second scenario. 
4/12: State the answer is False and that Mary would choose the first option. 

Most students knew that Mary would choose 4 plants for first scenario, but they went ahead and assume that Mary would also choose 4 plants in the second scenario and calculate the cost for it. They then compare the cost and state the result. 

For a few students who are confused about two for one and half price for one unit, if they show the reasoning correctly, I took 2 points off for it. 

Question #10 (12 points)


Point distribution: 
4/12: Mention how medical care is scarce and it is a good. 
4/12: Mention everyone has different marginal willingness to substitute other goods for medical care. 
4/12: State the answer false or uncertain. 

Most students got this answer correctly. Some other students stated that medical care for everyone would create shortage or lines, or that the quality of care would go down because everyone is getting it.
